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(82) ‘dotdlHi sisu slar 3[RudloAL 242 3 a1y ?

(A) s2ll o A1 « uzdl (B) 524l A, f5ul-
(C) Me™ld ldl (D) a%s [l €ld
(83) Al s A0l 9 ?
(A) sel+ G = sdl[¥ (B) 4 + &l = idlel
(C) i, + VMBI = =AMl (D) Alg + HLE6IR = ARUIGR

(84) (ARl GRAd ULl A AUl Sl dd dAlsy 53 69 7
(A) 281 58] & Ul su124 viiclaL Al
(B) HU'RLY, il HIe ¢ A9 ?
(C) 61t % draaiiet (7) A4 Asdl el ?
(D) “olle Al 6l AU

(85) vilZl waell sul aoe-l 9 ?

(A) sMaA-R (B) BiaL (C) sl (D)
(86) Find the different word from following words.

(A) retrieve (B) rescue (C) salvage (D) evade
(87) Neither you nor your friend was sick ................... ?

(Put a suitable question tag choosing from the given options below.)

(A) Wasn’the ? (B) Was he ? (C) Weren’tthey ? (D) Were they ?
(88) If Mr. Shah had saved money earlier, he .................. anew car.

(A) bought (B) have had bought

(C) will have bought (D) would have bought

(89) Shruti said to Neha, “You are my best friend now.” - find correct indirect speech.
(A) Shruti told Neha the she was her best friend then.
(B) Shruti told Neha that she was her best friend now.
(C) Shruti told Neha that she was her best friend then.
(D) Shruti said Neha that she is her best friend then.

(90) The lightning has a tongue of flame. Identify the figure of speech used in the sentence.

(A) Irony (B) Personification
(C) Metaphor (D) Simile
(91) Dr. Harris welcomed the members of the committee and wenton................ the subject of the meeting.
Put Proper verb form.
(A) introduced (B) introducing
(C) introduces (D) to introduce
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(92) Find out similar word for : Assault
(A) Defence (B) Beating (C) Shooting (D) Attack

(93) Select the correct sentence.
(A) Unless you worked hard, you will fail.
(B) Unless you don’t work hard, you will fail.
(C) Unless you work hard, you will fail.
(D) Unless you will work hard, you will fail.

(94) Intelligent.................... he is, he could not pass that exam.
(A) though (B) however (C) yet (D) as

(95) Parth filled ten litres of petrol to go to Ahmedabad. Select the most appropriate option to get the

underlined word as answer.

(A) How much petrol Parth filled to go to Ahmedabad ?
(B) How much petrol did Parth filled to go to Ahmedabad ?
(C) How much petrol did Parth fill to go to Ahmedabad ?
(D) How much petrol Parth fill to go to Ahmedabad ?

(96) Let her kill the mouse. Select the correct passive sentence.
(A) The mouse was killed by her.
(B) Let the mouse be killed by her.
(C) Let the mouse is killed by her.
(D) Let her kill the mouse.

(97) No sooner did I reach the college ..............c......... .
(Select correct option to complete the sentence)
(A) when it started to rain. (B) and it started to rain.
(C) than it started to rain. (D) after it started to rain.

(98) Neither of your friend will come. Identify the Pronoun.

(A) Distributive (B) Demonstrative

(C) Indefinite (D) Reciprocal
(99) Many times he helps those......................... he doesn’t know.

(A)who (B) which (C) what (D) whom
(100) If you ......eeevvennnnnee. the rumour, you ...........cccceue.. .

(A) had spread, would have been arrested.
(B) had spread, would have arrested

(C) had spreaded, would have been arrested
(D) had spreaded, could have arrested
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(101) etong uLRMUBLs u3{ls91 9 291 ?

(A)[MLT ] (B) [MLT ] (C)[ML'T ] (D)[M'L'T ]
(102) 23caltstel A1 2020154 uRMUBS w501 9 61 7

(A) ML T] ®MLT]  (OMLT] D)[M'L'T]

(103) 18 km h ' L 2% AR 52 315 At 1 A5 i 2g »id 5143 ?
(A)300 m (B) 64.8m (C)5m (D) 1.08 m

N

(104) A s Vel 29.4 ms 0l W3[5 euell s £ ot QecdlRaumi 33 9. il 3edl wean
. ~\ oA -2 b N o N
Gl weladl ? (g=9.8 ms ~ 2t galvl 2L 2A91BI)
(A)44.1 m (B)288.12m (C)88.2m (D)30m

(105) (R [Ad udoll aufd sdi uelel HIZ Aol —> AHY VUAVHL v-t A {12 BRI &sisu dld sl
gLl 565 clilas Al yed 20l o ?
(A) uaol (B) 421 (C) A2t (D) 2&lAidR

(106) v A4l uR 72 (3l /ses Fedll 53U elél 28l 51211 315aR HId{ U 132%1 Adi o i<l L el s
NN Y A . -2 - N NN NN o . ~N
adUd 69 5 %l 121 -1 ms AL [RaBd UlAndol Be™A 6. dl 6Ls douL olle S1R 32g idR il

allefl %2l ?

(A)2592m (B)200 m (C) 1200 m (D)72m
(107) R (osataion agousiz ua uR &9 g2dl 420 seuzll ould sl yelel-l Swoudl udold yeu 324
el ?
2 2 v 2
(A T (B) V'R © Rz (D) FR

(108) A+ [BLlAos 018 30° «L vl is (332 olldd 28 ms™ L A212ll S5 a9, dl 211 ol 32ell HedH
Gl uitd 5291 7 (g=9.8 msdl)
(A)40 m (B)20m (C)10m (D) 14m

(109) €0 2241 ABLAHL AL A&l [FuH (1AL Ul el glL - Asd ?
(A) 112l =yl dlaAL UaH [FuH gl
(B) {2t =g 2=t dllaetl oflogt [(HaH gLl
(C) =42t+tL oAl Usdl 2ie oflog i [RUHL gIRL
(D) =2l AUlarlL o{log 24 oo ol [RuHL glRL

(110) 36 km/h L a1 412 %cl. 1200 kg £ 4Ruadl s1, Aol sed w9l ?
(A) 12,000 kg m/s (B)43,200kgm/s  (C)33.33 kgm/s (D) 30 kg m/s

(111) Uelel U UM AL 610l Aee{HL Yele-l doHIAML UAdl 3511 8 Sl Sl 9 ?
(A) GLOLAL R UHIRIHL i oo [2auMl Slu 6.
(B) 61017l @42l UHIRLHL 21 o101 [A3g [BaUHl €1U 69,
(C) 6Ll AHUHIRLHL 2 -] [auHi Sl 69,
(D) GLOLAL AHUHLRIHE 2 o0l [A36 [BaUHE €ld 9.
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(112) Qrlasiail visel AclstRidl 2162 S50 15 el Hsd Udet 53181 . 24 Udet eARULA 2]
549 AN 2190 gL 8L ?
(A) 2UaGled (B) Rafa GloAd C)saludaid (D) sa uibis Gl

AN N2

(113) 70 kg £ 4R1adl elsdlR 32l Aol €13 dl d-{l afaGled 35007 2w ?
(A) 50 m/s (B) 10 m/s (C) 100 m/s (D) 5.10 m/s

(114) 100 watt il 215 61¢ 10 $ALS HIZ ALY, S, dl oleot gL 32l Glod quns ¢l ?
(A) 1 kwh (B) 10 kwh (C) 100 kwh (D) 1000 kwh

(115) vl oU[QHi % ¢IdL ‘el @1oa 9, el o ML ALsoLaHl 54 eillas AR ¢ & ?
(A) 514 (W) (B) L4z (P) (C) 25 (T) (D) % 3ceteil AL5411L (T)

(116) R Biosul 244 M g0+l o5 «1552 adousiz dsdl (3s) H2 dsdla dol 249 Srauizll uair adl »taq
v @alln gscal ALsHL Sedl €y ?

(A) MR? (B) %MRZ (C) %MRZ (D) %MRZ

(117) %A $QIAL 2l YR, §& GUEL 218 9 Sl dl 2L doidl et siella Ao [A9) g sél asia ?
(A) s4 518014 Ad1MIA 9L 89l (B) 5@ slelld 211 B2g, 9l
(C) 5 sielly doiq aug oal. (D) 4 S804 Ao1MLA A2 8L

(118) yeell=fl Aw1Zl uR [Fesiwl 53U Heu seg €lued ?

(A) 11.2kmh™ (B) 1.12kms™ (C)11.2kms™ (D)9.8kms™

(119) A+l 53 URGHEL 5l AL HUAdSIA T 247 et glegriell 0] 1a a 922 {1241 Us) 54 2oin
Sl e ?
(A)T? < a° (B) T «c a* (C) T? oc a* (D) T c a°

(120) 2Avid 2id2el m e Al usldq oty a1l 2udal 5195 Big Yl dladl 5241 usdl s 59
allas AR 2iaveauHi 21 €9 ?
(A)2Redlu »20is (B AR RAMGleA (C) 23 Raldmi (D) 23cd lsictl

(121) %412 uglel UR [A3Us6101 dolsclml U RUR UeleHl 2153 850 €ls Beiadl Yri: 22Us 6lon §

5869 7

(A) lasla (B) coi-ludl (C) d=udl (D) ulasto
(122) »iyMRUH, dioy, 80d vt Qo 210 212 Usl A1l ay Raldaus s5 o ?

(A)éled B)AN[AYH  (O)diyy (D) R
(123) 2oL HLsgdA-ll 2154 g Slu 6 ?

(A) 254 &d (B) Nm® (C)Nm (D)Nm™
(124) ctui=t asafl datlll dirdl ur g >4 29 ?

(A) el AR 9. (B) ULl B2 £9.

(C) 241l A0 S 69, (D) lricll AH-82 AU 59 .
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(125) drumisil aiiel Hatdll yesdiol GuR g A2 29l ?
(A) Lol 82 69, (B) YRl a8 69.
(C) YWsclloL A0 28 69. (D) Yl AU M ad-se 2y 6.

(126) 515 215 UaLdl HAAdL WAL s A0l Gl € A HsaUHi 1A 6. oA Saollni Haldl-l MR
(sal-Hatdl idr Au1dl) olfealinn €, dl ulti 534 waldl ¢al ?
(A)wsll (B) SUL9d viesisld
(C) W=l (D) [Hade 2114131453

(127) 100°C dlluHies] 331l MIusHHi Heu 9 2 ?
(A) 32°F (B) 212°F (C) 180°F (D) 273°F

(128) H Hlet 22lelL 51 s 2Aealdly, HIS ollSL, 58 viel dlUML 254 P, V 2A T 814, ol vlielaly,
AHls0L g =9l ?

(A) PT=HRV (B)PVT=HR (C) VT =HRP (D) PV=HRT
(129) GwL - YRagel 5 uglani Miem-{l »ta9u5dl eldl -2l ?

(A) GHlag~ (B) GBIy~

(C) Gaufalzel (D) UALSHL HIAH 2414945 SLU €9
(130) 55 UBUHL cdol 24 URUR 922 B3I, der ag Sl -2l ?

(A) 1l uEa B)AHddl uEal  (C) uuelo U3l (D) A 5E UlBul
(131) ARHLIUAASRAAL 541 [FUH dlUHLAAL vAIE dRS eldl Anu e ?

(A) ARHLIAAASAAL YU 531 [Run (B) AHLAAMSRAAL MAH [Run

(C) AHB AR SAAL ol [Run (D) 2HLAUAASRAAL SAlRUAAL R
(132) “[Rad £6dl8l Ay 58 dell [MRUAL dlusiel AHUHIRME 1A 9.7 w1 [l 53l [Ram sald o ?

(A) ollda-dl [Rux (B) ALl [Run

(C) wiRsa~tl [Rux (D) 2AUBEBR Run
(133) olldadl [y {12 U4 5 ulBuimi eo, ui ?

(A) AHAL WBULHE B) Al Ulsu1ui

(C) uMelofl ulsuimi (D) A sel Ulsami
(134) yeell U F-ll 2UaAd510 2 S Sld, dal dlasaiy] a3 2ig u 4 wdi g 29 ?

(A) 13u10 iy wdl o9l (B) &l3U101 2410100 2149 .

(C) ul3u1n Yie9m 2143l (D) al3uia yeell-{l FH AHY A Al
(135) el tal= dZote{l saurl Aec{i A ULl g 11 & ?

(A) diuMiAl 2ad=1 9. (B) £olL 412 A8 69,

(C) Mo a4l gkl 69, (D) ™% afdl 82 6.

(136) HIHHI 421 A2l oufa 18 221idRd adl 2R 55 ?
(A) s (B) GloAd (C) GloA il geu (D) Gloo, g vt Q11
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(137) $1241 1[0 22 12 vl 9 2 ?
(A) AN 247 294 i e[Agd HURA oA,
(B) A0 i 22 61 2881 [AgdMLRd 6.
(C) AL 28R [AgdMURA i 294 -t [AgdHRd ot
(D) U0l 4 [Agyd HURA 24 294 2881 [QgdHURA 6.

(138) 6L 121 922 BGgMadl el 2 geiod 6oL 312 (AL Ul g A1 &9 7
(A) AAAN Vil SEACLOOAL HELL L5 AHIA €14 69,
(B) 25l 93,6101 2 AULSH] AN 5l i AN S1UL 6.
(C) AL AAYLSMRL 51, il SEOLOL0L HUSHRL USI1R 1A,
(D) ARcA6L0L HUSHRL USIR], il SELO10L UL USR], 1A

(139) &35 q pF Sudle~t q1adl »191L sudlela SRl a9 . il o, sa sudlet o eal ?
(A) 27 pF (B) 9 pF (C) 3 pF (D) 6 pF
(140) 900 pF L ¥is 5Uflex 100 V <l 62l a [AgdeiRa sa1Hi 2id 9. 3U{le: Uzl [Agd™iR
Sedl 49l ?
-8 -12 4 11
(A)9x10 C B)9x10 ~C (C)9x10 C (D) 1.11x10 C
(141) 12 pF <, 215 30122 50 V «{l 623l 2018 o3 9. 3U{l2ni 3edll Rad [AgdGlaf e usl el ?
-10 -13 -12 -8
(A)6x10 J (B)24x10 "]  (C)4.16x10 " J D)1.5x10 J
. ~ -7 2 ~ . ~ o N -~ ~ ~ ~
(142) 15 mdollsSl 24 6 X 10 m~ %2d MUMd 23098+ 821501 HRLAAL YALSS iRl 1A08 5Q €14, dl
el sete{l 2Laiasdl (WAL ST Ul S1d d diuHia) Sedl edl ?
7 -7
(A)12.5x10" Q/m (B)2x10 Qm
-5 3 -6 3
(C)45x10 Qm (D)1.8x10" m /Q

(143) {121 U4l 54, Yot ulaR Al M2 12 2l ?

[\

(A)P=IV (B)P=TR (C)P=V'R (D) P =

IR

(144) [BAS L 5t [HAH 1AL UR U8R 9 7
(A) ARLHIA L AR88L (B) [Agd il A28
(C) vilg-L [Huy (D) séiot-l [Huu

(145) 261514 &t 2LsHL gauss (G) 24 tesla (T) A2AAL {1241 WSIHL s Aol w1201 9 ?
-7 3 4 5
(A)1G=10"T B)1G=100T (C)1G=10 T D)1G=10" T

(146) [RaMd 2oisld Ao B Hi [Qgdeiir g otsla s dol adousiz saui Rafd adonsiz ald sdl €l
dl dsfl 1Sselgiq gl g e ? ([QgdetRd saud e m 9)

\%
OF = ®) © 5 D) o5

PHYSICS (A) (17/24)



(147) 515 w1 ol Ysuiofl w1 g 2lve] uReusl orsla sasu g slu ?
(A) vixid (B) 34 (C) »is (D) Ywsu %24

(148) % 515 ged W12 Yoty Asaellddl (RoAls uAMRBIRZ) X>>1 €l dl d ged al UsiRe ¢dl ?
(A) 211125 (B) 311025 (C) UHRARs (D) 31402

N N

(149) dlvis, iy, [Fsa, siote i diolmidl oilaaii vadl FBsig 5O 9 % % sA30A[2s g
dAdls Quta e ?
(A) w8 (B) &ll~0 (C) Worllal (D) [As11

(150) Y15l s sl 2154 969 ?
(A) henry (H) (B) hertz (Hz) (C) weber (WD) (D) lux

(151) L5 WRuaMi 0.1 S Hi[AgdualsHi 5.0 A2l 0.0 A 8218l 2d 9. % 200 V 421 emfARd 21, dl
2L URUAAL DU S, Hed, 9] sl ?
(A)0.06 H (B)4H (C)40 H (D) 100 H

(152) %A1 [ dollSell il 215 U021 L8 AHLA Go151Y Q2L B Hi ot {5l d €9 i V oL 412 21
&lolrl ol WRASAML 1A 9 AR dtl 93120M1 URd dU[asld emf o Hed sed ¢dl ?
(A)IV/B (B)BV/I (C)B/IV (D)BIV

(153) 218l RLC uRu Hie et »ud e frdya g sl ?

1 1
W TR ®) /15 TR
fr= b fr= 1
© 7" nJLc D) 5 JRLC
(154) tgrle Sudfa Al RLC wRuaui addl [Agd Ualed 3ed 39 ¢l ?
(A)MsdH (B) =4ridd (C) %=u (D) ixid

(155) 5185 215 LA 1441 Was dju0uHi 2121+ vl Np 244 o1l dju0Ml 221+l dval Ns €9. ot 21
214514 Y 316 2151+ €l dl {12 Usl 545 a2 Al iy ?

(A) Vs>Vp (B) Ns=Np (C)Ns>Np (D) Ns <Np
(156) 22amsial-l doL dold sedl gla 9 ?

(A) 400 nm ¥ 0.6 nm (B) 700 nm ¥l 400 nm

-4 3 -4

(C)10nm21 10 nm (D)10 nm¥dl 10 nm

(157) sl=dlasiaiHi [Aeyayoisla doledl a9 sedl sl ¢ ?
8 8 8 8

(A)3x10 m/h (B)3x10 km/h  (C)3x10 m/s (D)3x 10 cm/s
(158) FM 2[3d1Hi ¢ A1g[xiouonsil Gualor s2a1Mi »1d ¢ 7

(A) 530 KHz ¥l 1710 KHz (B) 88 MHz 2| 108 MHz

(C) 54 MHz ¥l 890 MHz (D) UHF 613
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(159) 36 cm sl Blosul tR1adl 2idotn 24302104l 2018 2.5 cm GRS 218 Al Hloweidl 27 em 2id?
YsalHi 2019 9. H{lewordld e ulabior woaal Hie uiela AL A x50 Seetl vid2 ysdl
A5l ?

(A)54cm (B) 10.8 cm (C)45cm (D)9cm

(160) sal-l A& 516511 aslHadls Sl €ld 69 ?
(A)2.42 (B) 1.62 (C) 1.52 (D) 1.33

(161) %41 Hiviel 51522 + 2.5 D UldRAl Ardrg ARSWIA dvl IR AHL oielddl HI 2419945 olf3d1l0L
A=l 3 doild seel Avidluy ?

(A)50cm (B)25cm (C)0.4cm (D)40 cm
(162) 41 UULA SR, Hed silasiel sl dtiR eld, iR 5O usielly sl 29l ?

(A) uel 2idRs unad- (B) sl

(C) [ad+ (D) yell™an

(163) U1 Uslale, 3oL usialla uidol MinHil usillu az Mimui agleia wa, R (1AL 4 59
AR 2N W 9 ?
(A) »3U (B) ddl (C) dadeld (D) >glxl

(164) 5121 112 {12 Usl s34 (st 2«2l ?
(A) 5121 [Agyc-{l 2l dee 9.
(B) 8l2lrid, 4214l P=h\ 1Y,
(C) 5121 [Agyd 5 2otsla &l al [Aad Aqeiadl <.
(D) sle-{l Glof E=hv wedl €lu 6.

(165) %L w15 ALH gedsi Glogui 3uldR 2 dl s2dl Glof Geurt aiy ?
4
(A)9x 107 (B)9x10'®J ©)9x10'77 (D)9x10%'J

(166) 34 Fal il vidRu eiiiell Ggaiadl Gload ain Al 6 ?
(A)=ylsauz [Quiza  (B) WAL 2i[52[A2l (C) 51l Sasdls S852 (D) dlu Y suur e

(167) 215 AL URHIYLSHLS Z 421l UL el el Y2l Avdl N HlddL Y saldnm g 586 7

(A) uHeo(ld (B) 2ALSALL1 (C) AR5 (D) Qw3 2i[As1
(168) n - Us1-1L 2l getsll UL 5L HI2 Si 5 Ge Ml guasl Sl usi-l $29+1u 249 [& GHAHI
19 69 ?
(A) 215aa-e dradl x19[& (B) 22ldcre dra-(l x19)[&
(C) Urelddre drasil »1gf (D) &saslddre drasdl 21y

(169) P - UsIRAL viHalss gl 241 5241 112 Si 3 Ge Hi {12 Usl 55 »19[a GHRAl ASHL ?
(A) »udRs B)AN[AaH  (C) vil=uHl (D) 512834

(170) Si Hi $v3590 61ed 2 QAR 613 ARl Glof dslad 32ell eld e ?
(A)1.1eV (B) 5.4V (C)0.7eV (D)3.0eV
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(171) %412 p-n %52 SIS olLdA AL 20 1R {1241 US| g o119l ?
(A) 3@t (AR uslod ab €.
(B) 3@ [Qclz={l uelons u sie9 2142 adl 2.
(C) Wil 6lRU af 69,
(D) Ul[Rud 6lRu 82 €9,

(172) {121 U5l suL uRua 6121 ac Al de dic2%Hi 3uidel 531 asi ?
(A) [Qads uRua
(B) elas uRua
(C) 3uler [Beer A1l yeldiol Ases1u uRua
(D) [asiila slas uRua

N . - 2"\ . - N N . N . N . o ~
(173) 5155 s8L 22 1(1) =371+ 5T+ 2k o3 Ui 69, ol t A5~3HL A 2idR {2l 9. dl t=2.05
H12 dell 2L V(t) o e 9 s ?

(A)24ms™ (B) 13 ms ! (C)17ms ™" (D)34ms

(174) %A GHL UL 22Ulerd, AlUHLA T 249 6181 ARl dluMLd T2 814, dl 51lE ARyl 51484l
sed €lu ?

T,

T,
1 D) T,

—1—3 —1+3 =1+
Ayn=1- (B n=1+ © n=l+7

(175) 515 215 A0 wAd Elets HI2 x, v, A, m i k 154 2idR, 401, $UARAIR, 801 i 62”15
Sl AHy % o arRil dlReleIHl U viad eldd 53 Sld, dl vual elasHl s 1ibis Gl sedl

Sl ?
1

(A) %mvz (B) %kAZ (®) E1<x2 (D) %mw

2

NN

R N at 2~ ~
(176) 40 UAd Ald 5l 0l HedH 33U 30 cm/s 2 HedH UARL 60cm/S™ 69, dl Eld-sl 2uddsio
ol vl ?

(A) TS (B) g S (C)2mS (D) %s

(177) Qgdé-l E 2 deifladst B Hi V Adtell aild s [Qgideir g UR didld el 6l (Lorentz
Force) 524, €l ?

(A) F=qVBE (B) F=B(Vxq+E)
(C) F=q(VxE+B) (D) F=q(VxB+E)
(178) p A2tML A1 h ol $cll e 581 A1 AsouAe g dd1L [3 eliod] dadons sedl el ?

(A) A=hp (B) A=mvh (C)7»=‘g (D)x:%
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(179) 23U (524 auHi oc-a1y el e Gig A8 © ?
(A) SLOZ1%L Y [s6UA o BRFL {H o G an 8.

(B) [efeun 456l S He d GizLad 6.

(C) SAS2LAr], GRIA AU 6.
(D) UllB2Lrte] Gix= AU 9.

(180) A 516 Ml 1A [Aggduals dedl sld dl 1S Hi agAuwHdl [Agd™ir sedl €ld ?
-19
(A)1C (B)1.6x10 C

1 1
© % C (D) 3600 C

(181) [aeuell2Ainl “5655 53U ellviandl” gt o vuual M Riad 1A 14 Al uR A8y sur
Ysoll S ?
(A) A5 d2Al A ALV ALUAL B
(B) [Qenl1l wia wAlBLs s s1ad, A
(C) [Qenlil a2 ogu2l dloydl A S,
(D) [zl ayHi ay dpestd 2uud ASH.

(182) M19L e (MUl ULt AAEL AL LA AW 43U 29 53l vt 5O ollotd il uR Al St ?
(A) $15 UBL 218 UR $2691 Yasoiel 515 ULl AR A sy,
(B) 2edL A4 AR y-218 U o Adl A
(C) URciol At UM x-18 U o Al A5,
(D) el A&t AL x-218 U e UL A AR y-248 U Al A5

(183) UALLLALOUML clR~tL 2t Hiyal i [Qenedld sy A1t viud st ?
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